
Hammond Manufacturing Co. Inc.

256 Sonwil Dr.

Cheektowaga, NY  14225          USA

Phone: 716-651-0086 Fax: 716-651-0726

Hammond Manufacturing Co. Ltd.

394 Edinburgh Rd. North

Guelph, Ontario  N1H 1E5    CANADA

Phone: 519-822-2960 Fax: 519-822-0715

www.hammondmfg.com

42

©

Natural & Painted (1590 Series)

OTHER KEY FEATURES

• Rugged, diecast aluminum alloy (tough yet easy to machine), electronic instrument enclosure.

• Lap joint construction provides protection against access of dust and splashing water. Also provides for improved

  EMI/RFI shielding.

• Painted version (shown below) is painted with tough polyester powder paint for a lasting finish, even after machining.

• Four (or 6 in 1590D, 1590DD & 1590E, 8 in 1590F) 6-32 x 1/2” machine screws secure lid - into tapped holes.

• Designed to meet IP54.

• Replacement screws for natural finish series, machine screw, nickel plated, 6-32 x 1/2” - 1590MS100 - Package  of 100

• Replacement screws for black painted series, 6-32 x 1/2” - 1590MS50BK - Package  of 50

• Replacement screws for grey painted series, 6-32 x 1/2” - 1590MS50GY - Package  of 50

Enclosure uses machine screws

into drilled & tapped holes

matched to enclosure color...

Lap joint construction - lip

masked to ensure good EMI/RFI

connection to base...

Nickel plated machine screws for

superior corrosion protection...

Lap joint construction...

Countersunk lid with

machine screws into

drilled and tapped holes...

Vibra finished for a smooth

surface with no sharp edges,

then painted with tough

polyester powder paint...

Countersunk lid with

machine screws into

drilled and tapped holes...

Vibra finished for a smooth

surface with no sharp edges...

Low draft angle for easy

P.C. board mounting...



43Hammond Manufacturing Co. Inc.

256 Sonwil Dr.

Cheektowaga, NY  14225          USA

Phone: 716-651-0086 Fax: 716-651-0726

Hammond Manufacturing Co. Ltd.

394 Edinburgh Rd. North

Guelph, Ontario  N1H 1E5    CANADA

Phone: 519-822-2960 Fax: 519-822-0715

www.hammondmfg.com
©

Natural & Painted (1590 Series)

Notes: Assembled height = dimension “C” + .16” (4.0 mm). Wall & lid thickness is roughly .08” (2 mm) and varies

with draft due to part being cast. Posts “X” exist on parts 1590D, 1590DD & 1590E. Posts “X” & “Y” exist on part 1590F.

For detailed drawings, CAD files or color photos visit our website at: www.hammondmfg.com

Base Detail Lid Detail

���������	


���



���
�����
����

�������������
 ����� ���� � �
�

�������
 !

��"#$% &���"#$% '���"#$%
���� ���� ���� �	�� �
�� �
��

���
�
�� ��	� ��	� �� ���
 ���


("#$% &�("#$% '�("#$%
���� �	�� 	��� �	�� ���� ���

���
�
�� ���� �
 �� ���
 ����

�"#$% &��"#$% '��"#$%
���� ���
 ���� �	�� �	�
 ���

���
�
�� ���� ���
 �� ���� ����

�"#$% &��"#$% '��"#$%
���� ���
 ���� 
��	 �
�
 �
��

���
�
�� 		� 	� �� �� �


)"#$% &�)"#$% '�)"#$%
���� �
�� ���
 ���� ���
 ����

���
�
�� ��	�� ���� 	� ���� ����

�"#$% &��"#$% '��"#$%
���� �
�� �
�� �	�� ���
 ����

���
�
�� ����� ���� �� ���� ��
�

��"#$% &���"#$% '���"#$%
���� ���� ���
 ���� �	�� �	�


���
�
�� ����� ��
� 	
 ���	� ����


"#$% &�
"#$% '�
"#$%
���� 	��� 	��� ���� �	�� �	��

���
�
�� ����� ����� �� ��
	� ��
	�

*"#$% &�*"#$% '�*"#$%
���� 	��� 	��� ���
 �	�� �	��

���
�
�� ����� ����� 	� ��
	� ��
	�

�"#$% &��"#$% '��"#$%
���� ���� 	��
 �	�� �	�� �	�



�
�� 	�� �� ���� �	� ��

+"#$% &�+"#$% '�+"#$%
���� ���� 
��
 ���� ���� 	���

���
�
�� ��	�� ���� �� ���	� ��
�

%�"#$% &�%�"#$% '�%�"#$%
���� ���� 	��� �
�� �	�� ����

���
�
�� ����� �� 
��
 ��
	� ����

&"#$% &�&"#$% '�&"#$%
���� ���� ���� ���� ���� ����

���
�
�� ��� ��� �� ���	� ���	�

,"#$% &�,"#$% '�,"#$%
���� ���� ���
 ���� �	�� �	�



�
�� ��� �� �� ����� ����

%	"#$% &�%	"#$% '�%	"#$%
���� �	�� ���
 ���� �
�� ����


�
�� 
�� �� �� �
� 
�

�"#$% &��"#$% '��"#$%
���� �
�� 	��� �	�� ���� �	��


�
�� ����� ����� �� ����� ��
	�

 "#$% &� "#$% '� "#$%
���� �
�� 	��� �	�
 ���� �	��


�
�� ����� ����� �� ����� ��
	�

!"#$% &�!"#$% '�!"#$%
���� �
�� �
�� ���� ���� ����


�
�� ����� ����� 
� ����� �����

��"#$% &���"#$% '���"#$%
���� 	��� 	��� 	
�� ���� �	��

���
�
�� ��� ����� 

 ��� ��
	�

%-"#$% &�%-"#$% '�%-"#$%
���� ���� �
�� ���� ���� ���



�
�� ��� ��� �� ��� ����


